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A: 3x2—-20x—-12=0
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Question:
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Question: | 7T p+#q# 0, BEN S5 f(x) = P9+ 1) =3 ararg 3 =065, e -
J729 + gx — 9

A: 7pq f(0)—1=0

B: 63q f(0) —p?=0

c: 21q f(0)—p?=0

D: 7pq f(0)—9=0
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Topic: Mathematics-Section A
Item No: 11
Question | 190411
Questi
T;Jpe; on MCQ
Question: | TEX 337 ABC ¥nit gwet AB, BC w3 CA it mie(gst gHed 2v+y =0, x+py =39 m3

C | x—y=3 353 P(2,3) ferer ufgaes I | 3¢ fegs &9 fagsT ARt aRt T ?

A: (A‘C)2 =9p
B: (AC)2+p2=136
C: 32 < area (AABC) < 36
D: 34 < area (AABC) < 38




Topic:

Mathematics-Section A

Item No: 12
Qlfestion 100412
ID:
Question
Type: MCQ
ffadag C, iR O R e I i3 o x-W S fo 4 J | 3w y=2x Fa@ C, & T OA
Question: | feet I | Ha 8 Taw C, famer OA e I | g A 3 C, & AUSH 3u x-T9 § P 3 fheset I miz
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A 1:4
B: 1:5
C: 25
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Question: Hod U, fAET SaH (a, a) ¥ fiiG 3 AUTH I x+y=a J, ¥ &H JdeH & Jaet 16 J,
" | 3% |a| 59T ras.
A: 242
B: 243
C: 42
D: 4
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Type: MCQ
fEa & gwat Uuust urAr fer 390 O fa 3x P (f8a nigm Afinm)=6xP (B gwa Aftmir)
Question: | =2x P(1) T | Hs &8 X f¥x 3393t 98 U 7 f&r UA § &3 979 e A'E 3 AYTS <991 Y3 T96
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2
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o [10(J§ &), 22—5)
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Question: | 73T FEG (P A (~R)) = ((~R) A Q) = HY ¥3 F I 3= feust feg famer Fg HS F T 7
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Question: | ~© B kt
IBcans Afag vig  t3uHs I B T fed J=ar:
A: [ML2T 29—
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10 kg &t fea er3 ofsdt o 45° T fa ae 3 yufus st ot 9, =m3 = ug fex fie (20, 10)fsE
Question: | gFgeT Ifen feuat A3t famr T (Fa9 T 83 o I 37 AN t=%§’ﬁ€ﬂ€fﬁ%m J
[g=10 m/s2&< |
M P
A: 100+ (10042 — 200) j
M M
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Question: M U &t foa It 4oes T% 35 3 nious 31 5% I 35 feA%el I ITS 3% ofiar oA 5%
gefemr aF 07| AUSY % o Ufaqs Jear:
A: Mg
B: Mg cosb
C: \/Mg sinf +Mg cosf
D: Mg sinf J1+p
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Question
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Type: MCQ
feg saAT ‘A’ 30° 33 »i3 I, BAEt © B 9918 HaZ T 3 JoT < fenss wEt 2 s AHT & U 8
Question: | AH ‘v’ &% %l fea §uT el faee Re Sfitmr famr 91 feg fdst At Bl A9 T% § 45° 3
sor fEsT A< ?
A 2.66 s
B: 0.83 s
C: 1.68 s
D: 0.70 s
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4cm T B9 33t @ g0 feg WAE 3 anie ot © <91 fBx f3oret gfo afer 31 Hfenr A< fa oot
Question: | ggH ¥ »ied 9%< AX AfE9 Yf390 & AroHs g9t J1 gaA 199 it udt 397 9o 31 fdat et 37
T
A 2.0
B: 1.0
C: 0.5
D: 10
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Question
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Type: MCQ
m A & £ \ 0, 391 5% Mits 3 v 5 uFem Budt forr feo yafus otz famr 9 feo s
Quest I 1R o, umfes a=t T vz N < 1 7a@ o= & YS9U AHST & Sfenr /e 3t 6T gast € deg 3
uestion: @_ & @_ ﬂ g.,a fEU q ?I'I
(R 093t & nigy fenmr 3)
R
A: >
T+A
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Type: MCQ
3.2 m B & fFa Ad® 39 (Y ,=2.0x10! Nm~2) »344 m 39t & fFq sta & 39
(Y,=1.1x10" Nm~2), €' & »u fenmA 14 mm J § 9 3 79 3 Afanr famr 7 1 7" fEx
Question: | HUZ oo fiffanr famr T 3t for 89 &3 07 1.4 mm fHeer 91 &q1 Ji3 &3 fores fie I=am
(Given ™= 7)
A 360
B: 180
C: 1080
D: 154
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ID- 100438
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Type: MCQ
& argate Az 300 K »3 100 K 3uHs fegard argn ageT 9 | dag B fonarst 8 arase
Az 300 K %3 200 K3 3 € 3579 o9 o9 @93 J »i3 fEq 99 § 200 K i3 100 K ¥ gHe9
€ IUNE 3397 &% 13T J 37 o0 g% € g€ f¥ss € AHdEr dedt
300 K
By
Question:
200K
)
ndc
100 K 2, eane
A: ufa® = s |




B: ufo® 3° gHAT fanier |
C: ufa® 3 THEE U |
D: ufo® & Ay &9 20 77 ue § Aot 4|
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Type: MCQ
A339r ot f3aat g9 fooz Es Adt 76 ?
(A) nH33T & f3at &% fFF vz 87 § Ay q9& € n? WiFa-»Bal 39 Juer J |
o [ =2 5 S
(B) 9 H3393" <f f3ardt 5 RT viA3 9 y=t vs &% Ay Juet T |
Question: | (C) feq feq Y=<t dA vz fFq wHE A3393 fsadt duer J Aefd SyHEsr »ig 2 wH's
A3393" f3at Juer T
(D) CH,d® 6H3I3I3 Jue" J |
5 fo3 fRamut f&9° At €39 92
A: a<% (B) »2 (Q)
B: <% (B) »iz (D)
c: <% (A) ™3 (B)
D: ae% (C) w3 (D)
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Question
D: 100440
Question
Type: MCQ
Question: 4 nC & fEx T/an € THgT 3 o famr I | A3 3 99 & UfoHE JRar 3t fa emgwr 9 8%
| BRH TR
A: 1pC»m3 3 pC
B: 2uCm3 2 pC




c: 093 4 pC

D: 1.5 pC "3 25 pC
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Question ID: 100441

Question Type: | MCQ

(A) fedaest & 3fez 2a &x ¥ IuHS 9 @0 &% wee J|
(B) 3facz <a1 f¥3 o®a T o 839e® © 8Fc nigust U |
Ovestion (C) 3fuge 31 T8 3 & A3 USHS M3TE 3 5999 &t J9e |
(D) 3fiez a1 oo &t St © 85 nigust T |
(E) 3fdez Ta1 g&a & 3IuHs < @0 9% TueT J |
J5 foz feamut & Adt €39 92
A 3 (A) »3 (B)
B: % (A) »iZ (D)
C: =% (B) »3 (E)
D: =% (B) w3 (C)
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Question | 190442
Queston | ycq
Question: f8u & At fee fa dact Bt 20 =9 Y3t fHae 3w 30° o€t I | 35 &t Aftnr ufs fiise 10,
60° f8u a= @ oA J9 AEE 3 IU AT T | 57 AEST I IS gUdt 639 €7 wigUs J..
A: J3: 4
B 4:43
C: 349
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Question
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Question
Type: MCQ
fEd U 3 y=fds aoe &t fox Arfeatigs =af3nr fam I | #a9 ufsese a9er gaet 539 1.0 T

_ J m3 AfeaseTs & »idgy fonmA 60 cm, T 31 2oz &3 Yers & afza o (MeV

Question: fog )ﬁ%am”r I
[m,= 1.6x10"% kg, e=1.6x10"1? C =93]
A: 12
B: 18
C: 16
D: 32
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Question | 400444
Question
Type: McQ
Question: fea LCR Ageic L=0.01 H,R=10 O »3 C= 1pF v I »3 50 V T £ A3 o5 s3tauz feg
| Ao famr T wisaet wirfest 3T 60% we wifeSt 3 AP T SIS WITTH J=aT

A: 466 mA
B: 312 mA
C: 238 mA
D: 196 mA
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Question 100445
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Type: MCQ
Jot fa3nr f&8° EM 39T € nidhdl-nidal feRAS=T odASe Jua’ of AT UE'E &9
(A) fEx A farsgadt 34901 feU faAme! 439 »i3 gudl B39fed eAY 3 B33 3€ e 76 »i3
Juz o forr farser 7 9o U39 ¥ 5%-a'% J&T Jrelet J|
(B) fomwggct 3dar feg Bom famesst »i3 duat Afenr fegare gargg <&t de J1
Question: g s e . g s @ ~
(C) €3 farwet »iT dust u39 f8d TAT € AHIST 05 »i3 3da1 ©F <uz ©f forr 3 333 a5
(D) forwset B39, godl H3J »i3 3941 ©f 2us ©f fear nuR K9 fEx gA9 3 833 3 gdiT 75 |
(E) Yuolt 439 3° forser 439 & »TH & wigusT ya'e &t J18t € 5989 J|
Jo fo3 fFamut &9 ig 3 da=t €39 ¥& :
A: =% (D)
B: o= (B) i3 (D)
C: a=% (B), (C) m3 (E)
D: I=B (A), (B) »i3 (E)
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Question | 490446
Question
Type: MCQ
StEg3T migusT 1: 4T € FHAS ydt A3 fews U gov 95 | fem fews ©F Sxdt & dod
Question: I + T - Lo
“max Fmin oy 20 1 S gy o > S
Imax - Imin B+3 B
A: 1.5
B: 2
C: 0.5
D: 1
Topic: Physics-Section A
Iltem No: 47
Question 100447

ID:




Question

Type: MCQ
Yo -fameet (e fevafex ) yze ffu foushr © Aegse &5 Jo foshnr o9 At as < uae
9
(A) yar-fesags & §U3H Ta1 © TJ91 yare famsett yge feg nimuf3 yam & wifedt & fig
Fe%et I
(B) A3 aic T HE yIH AS 3 U3 M3fu T e ags s 2w 9o T |
Question: | (C) vy fEdaes 2 893+ aifza 897 yam Az =F faaset mast weies 3 waet I
(D) yaw fedaes & o3 A3fu 3 Afe Ifenr Brgns yam/feaedaat 3Jar © = Ut A9= &
fenrftnz &t 7 mer |
(E) yar/farsgedt 3dar & 39d1 oHT A< &% 208 3ddr ©f Hoeal 8 &dT fenmfimiz a3 ar
ASET
Jo &3 Famut &9 Ag 3 2=t €39 9% :
A: SEY) (A) e (B)
B: Sy (A) e (E)
C: CEY) (C) 1 ES (E)
D: CE) (D) = (E)
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Questi
T;pe:: on MCQ
Question: | X I8TSuaHT uerge & fafonmitesse.4 x 104 curieJ | feret nigu-»ig 5 fest & T | fafonmitest
| fest smE 5x10-6 curie 5= At :
A 7 fest
B: 15 fest
C: 25 feat
D: 35 feat
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Question
Type: MCQ
¥ nig® Adfo-E3HIAS <o Bt 8 ofaAed T Agfod ode 4 mA,3° 6 mA ¥ HG 3 Udd
Question: | miar J Fafa wiarg a1de 20 pA 3° 25 pA & UG 3% 58%eT J | Aed giaAed fafonmiis Afest
&9 3 3t 2= s ade dF J=ar:
A: 240
B: 400
C: 0.0025
D: 200
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Question
Type: MCQ
Hgsfea frass & fEa <Jar 3901 939 fou feurst ot 9 | @0k 3931 C(t) =5 sin(8 wt) <
NgT TIFTET JET I | HEBHG fEE3ar index AEE Wid & d<ar ?
Question: 1
m (t) -
inVolt{ 05 1| 1.5 2| 25 t
A: 0.2
B: 0.1
C: 0.3
D: 0.4
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Question
D: 100451
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tarT H3BH B3 T fea ytar feg, Ua 2u-34 gt (1, 2, 3, 4, »2 5 m) 8 Y3 5989 Je-83
(2 mm?) & AZS 37 ST IEDT TS WS TTU YU Sl JIEDT TS | TUT T T (DECHE B3)
379 ¥ BIE T 7B MBY A3 AT A WS IoHT de YU o3t famim I | ASIS €7 Wd

PIEIT) 10! Nm~2 & feaet feg
T
g
Z
Question: 10
o
Lo
h4
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Question | 490452
Ques.tion Numeric Answer
Type:
Hizg sfom yoar &t o3t ot fo39 oo, ameaies & fhes gami(fsedans) © AHAT  S9=d3T
Bt AC, 40 cm J| SITEIST Haret cm J<dt 7 39 AB & wiJgufenH  gdiET
a9 fesraer I |
|5 V
Question: | !
A C B
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Question | 100453
Question

Type:

Numeric Answer




6° fox 2 %3 1B yaw Bt »uTga3 W 1.5 (ny) © e y3B yfan § 5° feg @ w3 ny, = 1.55 ¢ foa fiyan

55 faasm 31 TS 3Rt fegus Uer &t gae gﬂswﬁ?sﬂ?@(a)[l) Jd xTHSESI

X

Question:
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e - A A o w5 G o "
ggdll U39 B = (3t3;’ + 3t2k) SI fearst 3o & rgest 89 X - Y i3 f8x o daararg
Question: | =R SR Y |- FeT I=F THPT oo 1m, T3 t=2sec MY 3 I 29 G305 Jet emf
Inwr VIl nT HS af
Topic: Physics-Section B
Item No: 55
Question ID: | 100455
Question .
Type: Numeric Answer
939 X fEg fe3 aF Adac ST sare uoy foo Ayt o9 X10-¢C 3T
E=10V
— W
r=10 ()
Question: R=100Q
C=1.1pF

e

R'=200 Q)




Topic:

Physics-Section B

Iltem No: 56
QL{estion 100456
ID:
?ues.tion Numeric Answer
ype:
0.4 mm I3ET,8 mm BIE »Z UB (FEd) o9 4 mm & £t &% g€ e AHi3T ude U
g 20 V &t £ gedt & Afanr famr 7 | sfefedafca Afgg vig Juet 5 uEt 1 mm St 04 m 3=
Question: | M3 4 mm Kt B sfefedaice A®e § AHET uBe U9k &t uder [faara dftmr  famr 31 feemer
o Afeg famset G €y J=d |
(Where ¢, is the permittivity of free space)
Topic: Physics-Section B
Iltem No: 57
Question | 490457
Question .
Type: Numeric Answer
fez rofan  R9 ar 3 S8 30 con St & €7 39 n & w3 (n+1) S »rfeSt gHE™T 400 Hz
Question: | M3 450 Hz I Judt ¥ | 749 39 3 2AS(3a™) 2700 N I 3t fordt Sfua Ua wasr
kg/mJ|
Topic: Physics-Section B
Iltem No: 58
Ql{estion 100458
ID:
Ques.tion Numeric Answer
Type:
3 cmnidu fenmA v B dad ATEE 9%E% 6 cm widy fenmA ¥ f8x I9 doad s 95Es
Question: | nfeg gzer J| fen feermer €9 7169 3 cm »iU fenfA © foA 2% 9598 T niEgst 8978 rcm wi9g
fenmr e ffgIT S Aas € B98¢ S99 d 3 rT HS JI
Topic: Physics-Section B
Iltem No: 59
Qgestion 100459
ID:
Question

Type:

Numeric Answer




1 mn3 10 cm & FHETT Baet w3 fon &% 0.5 kg & A T fea 3R T@aa9 § € IAm 5%

searfent famr 3 R fx fo39 fe feufent famr I | foret gt AfEst 3 cm
o 3 @™ HT 4 ms ! & Tt § yus 9 [KaEr 1 (g=10 ms 2 &)
L L LS LS LSS
Question:
T T
Topic: Physics-Section B
Item No: 60
Question
D 100460
Question .
Type: Numeric Answer
T % 3 fea o 5 fie o939 s feurfenr famr 3 | feaganreg 35 ABE fRa fig A 3 fersh
2 sB-as Yz di3T 9, Afa fend 10 m & oz Baret & finig e B33 & are &2t aedl &31e =1
&% fea garr fiud 3 udes 3 smiE 9a9A 30° T Sa ¥ EAJ €% 3% BC 3 Uo7 25 ferser I |
feg fig A 3 fig C 37 udos &€t 9 AT t(V2 +1)s BT J I1tT WS JI
(g=10 m/s2TT3)
Question:
B
10 m
150 J 30°
A C
Topic: Chemistry-Section A
Iltem No: 61
Question ID: | 100461
Question MCQ

Type:




Jar &3 niafaest fash 2 aned nigt € AT § 97 € At wiee gH &9
(A) n=3,1=0, m=0
(B) n=4,1=0 m=0
(C

Question:
) n=3,1=1, m=0

(D) n=3,1=2 m=1

Budas IEat © warg 3 Jor o3 839 @9 Adt €39 9T
A: (D) > (B) > (C) > (A)
B: (B) > (D) > (C) > (A)
C: © > (B) > (D) > (A)
D: (B) > (©) > (D) > (A)
Topic: Chemistry-Section A
Item No: 62
Question ID: 100462
Question Type: | MCQ

gt - 103 5ot & G- 10

Het - 1 Aet - 1

(A) Y=t —Up () <-To=t vHe
Question: (B) = Q P (H) ﬁ'ﬂ?‘i YHE’JF

(C) w ) St dus nicsts nidfaes

(D) yo=Up +ip (IV) Sus ot
A (A) - ), B) - 1), (©) - V), (D) - (1)
B: (A) - (), (B) - (IV), (C) - (I), (D) - (IT)
C: (A) - (), (B) - (), (O - (IV), (D) - (1)
D: (A) - (), (B) - (IV), (©) - (L), (D) - (0)




Topic:

Chemistry-Section A

Item No: 63
Question ID: | 100463
Question
Type: MCQ
Question: | pH Hied! nigH™a niéy 7 aHAd ¥d NH,OH § Sa=<d 378 HCl a5 yfzz Jer J
pH
A: T 7
0 37mg @ wifess
pH
B: T ? i
0 37mg @ nifess
pH
C: T 7
0 35 = wrfess
pH
D:
[
0 37mg = wrfess
Topic: Chemistry-Section A
Iltem No: 64
Question ID: | 100464
Question MCQ

Type:




Jot @ qEs o3 g I5
ags 1: KISEH®T o®%a3T 3dT 5% 2uet J AWE3T UeE 578 ¢

Question:
g6 Il :  J9ufed 3TE BT HBd U5a3T 20! d I6-d% AWEST UeE 575 :
Bude® JEs’ @ w3 Jo 3 faasyt &g rdt €39 92
A: 95 qEG-1 »3 qEs-11 AT I& |
B: o6 qES-1 3 FEE-11 I3 T |
C: Fg5-1 At 9 uT qES-11 a&3 J|
D: E5-1 I%3 J Ug FEs -1 At I5 |
Topic: Chemistry-Section A
Iltem No: 65
Questi
Do 100465
Questi
T;Jpees: on MCQ
Jot € oEs i3 o' 75| 8 § o3 o8 (A) »i= g1 § I96 86 (R) »ifas ai3T famr T
fez oms (A): oofess 99 W& IT u=9y § TJ 396 &8 iuH  fesed/ugeie g ferds
Question: T A |
| @95 585 (R):  HU Ui @ o BuH fesea/udeite g ot &1 Ao 76, Ud SoTESS © o BUH
feweg/ugone TUT & Ao I5 |
Budas aEa T g 3 Jor 83 feamy fog" Adt €39 9&
A 6 (A) 3 (R) At & 3 (R),(A) & AdE fenrfimr T
B: 5 (A) 3 (R) AT 75 Ug (R),(A) & Adt fenrfir &t T
c: (A) At I ug (R) IB3 T
D: (A) I®3 T ug (R) ATt I
Topic: Chemistry-Section A
Iltem No: 66
Question ID: | 100466
Question MCQ

Type:




A9 3 9199 I fesaeea 39319 99 33 A, B, C, D &=t Jot fest ot I

(A) 3s"
ra..1

Question: (B) 98 313’

(C) 3s"3p?

(D) 3s73p*

fest & ufgedt nirfefea nsamdter rdt g1 9
A (A) < (B) < (©) < (D)
B: (B) < (A) < (D) < ()
c: (B) < (D) <(A) < (C)
D: (B) < (A) <(C) < (D)
Topic: Chemistry-Section A
Item No: 67
Question | 190467
Questi
T;pees: ion | vica
Question: | [EX 33 AT 133 B 257 feqrasr sar8er 9 7 A St g 3° <0 IeigAs €9 Jou 1

- | ff's 3 BY:

A: Mg
B: Be
C: Ca
D: Sr
Topic: Chemistry-Section A
Item No: 68
Question ID: | 100468
Question MCQ

Type:




Jot € FEs B2 T 95| 8 § o3 8s (A) w2 TH § T96 aEs (R) vifas &isT famr 1
. o
Question: foz 785 (A): 9§96, BE2~ &dt 9FT Ao J |
95 385 (R) : BT »iad §g3 &7 J |
Budaz JEst € wug 3 JoT 83 feasyt f&9° Adt €39 9
A 26 (A) »3 (R) At T8 »3 (R), (A) = At fenrfimr T
B: 5 (A) 3 (R) AT 95 U3 (R), (A) T AT fenrtmr &3t T
c: (A) ATt T ug (R) I&3 T
D: (A) T®3 T ug (R) At T
Topic: Chemistry-Section A
Item No: 69
Question ID: 100469
Questi
T;pees: on MCQ
Question: fequy Af wrg HfuGH &8 MnOy UEl8 Adee § miaH a3 a9 fider J -
A: S,0%"
B: 5508
C: SO3~
D: SO;~
Topic: Chemistry-Section A
Item No: 70
Question ID: 100470
Question Type: | MCQ

Question: o3 o GHUGIAT 99 wWe wiaHaad weHE »H 39 3 7 Blars ¢
A 9o r-JfIE T IT I
B: g9dr ¢2F T JIE J<




C: 9alt 7-oF @ AHIET J<

D: HET o-€= & AHIEr J<
Topic: Chemistry-Section A
Item No: 71

I%‘fesm” 100471

Question
Type: MCQ

J5" T JEs o3 I’ T5

cecrl I I3 T fewesrts €3<t AR nir ASaT &1 o Sutiar 3 Alne T Sutar &9 =33t At
Question: ol

a5 I1: @83 usHAfea 3 yus Fus &s/fifar 3° fast der I

Budars TEst © mirg 3 Ja7 S feasyt &9 Adt €59 v

A o6 qEa-1 »i3 JES-11 Adt 75|

B: 5 qE6-1 3 TEG-11 I53 T5 |
C: TEE-1 At T UT FEE-11 T53 J|
D: FE5-1 %3 I UT qEG-11 At I5 |
Topic: Chemistry-Section A

Iltem No: 72

Question ID: 100472

Question Type: | MCQ

Jor fo3 ySifafonr &t &3t fSg A 3 B & Agger I
O

Question:

NaOH

5 A
R Major Product
/\ e




(l)H

R— C —CH,
H3C Br
(l)H
B: R—?—Gg
CH,CH,
O
: )‘\/\
R
O
’ )J\/\/ &
R
Topic: Chemistry-Section A
Item No: 73
Question ID: 100473
Question Type: | MCQ
Jot fo3 yStfafonr & &3t Re iu QUA T -
Br
Question: CHS —C=CH- CH3 2 A HI > B
| CH,OH (major product)
CH,
HO Br
| |
A CH,-C — CH-CH,

|
CH,




| Br

B CH;— (|3 — (llH —CH,
i,
Br OH

C CH,-C - (|:H —CH,
i,
Br I

D: CH3—(|: = CH=CHy
CH;

Topic: Chemistry-Section A

ltem No: 74

Question ID: 100474

Question Type: | MCQ

Question:




Het - Im%r—reﬁ 113 g |

@ @5

SnCly/HCl
ey L, ——2L—"» CH,-CHO

H,0*
;Hm

ma(amyd)
Jot oz fEamut f&8° Adt 839 95 -

{:rcagt:lz
H,0 o+

(D)

Aot 11

() dieg Ha ag yStafanT

() feergs yItfafanm

(I rtes yStfafanr

(IV) IrsHs ystafanr

A (A) - V), (B) - (1), (C) - (II), (D) - (1)
B: (A) - (@), (B) - (II), (©) - (I10), (D) - (IV)
C: (A) - (D, (B) - (I, (C) - (IV), (D) - ()
D: (A) - (), (B) - (II), (C) - (I), (D) - (IV)
Topic: Chemistry-Section A

Item No: 75

Question ID: 100475

Question Type: | MCQ




AYt - 103 gt - 115 g |
get - I get - 11
(UFhH) (HEHT)
.| @ e o
(B) ZT&5 () T& U
(C) nidteE (IIl) ZTeHIE s
(D) yIfasa gg93 (IV) nrEtids
A (A) - (D), (B) - (T, (C) - (0), (D) - (IV)
B (A) - (), (B) - (), (©) - (1), (D) - (IV)
c: (A) - 1D, (B) - (1), (©) - (IV), (D) - (1)
D: (A) - (@), (B) - (II), (C) - (IID), (D) - (IV)
Topic: Chemistry-Section A
Item No: 76

%_‘95“0” 100476

Question
Type: MCQ

feq Igdt diea ‘A’ R9 areiens M3 SBdis Hge J feg uet e ws o £ us fédl 7 1%
fseHR § % a9 féer T | Gfed ‘A’ & HaX U9 &% nigHs 3 BT I X ‘A’ wiest 979 131 %2
Question: | J | 72 ‘A’ ¥ fFa 318 & AW NaOH &% yStfafanr agefenr afer I fox 39% far fis NI ug
Cl &3t &1 T AeT J| 398 © STICH WA 7% YStafant 9o 83 omie d&%s &% A4l
nERY gegE I Gfoe ‘A7 T

+
NH,CI ™




NH,
& |
B:
+ —
CH, NH,Cl
C:
+
NH,Cl~
D:
Topic: Chemistry-Section A
Item No: 77

Question ID: 100477

Question Type: | MCQ




AYt - 103 gt - 115 g |

et - 1 gt - 11
(A)  g@E+ HI I) IBAfea WifFs
Question: (B) 3@ + Br, Ut () JBAA Uemiriee
(C) TTaH + wiHlfed naaEsTers () Fofdx wifAs
(D) B + HNO, (IV) Jars
A (A) - (IV), (B) - (), (©) - (D), (D) - (1)
B: (A) - (IV), (B) - (I1D), (©) - (1), (D) - (@)
c: (A) - (), (B) - (I), (©) - (IV), (D) - (IT)
D: (A) - (@), (B) - (ID), (©) - (IV), (D) - (1)
Topic: Chemistry-Section A
Item No: 78
Question ID: 100478
Question Type: | MCQ
Question: o oz e Sa st as e st S amBer g ?
A ASH AElge
B: ASH Sr9gde
c: FSiH Iae
D: 2Tt ASeiH @HeE
Topic: Chemistry-Section A
Item No: 79
Question ID: 100479
Question MCQ

Type:




Aet - I3 got - 11§ s |
E—uﬁ-- I Eﬁl’ - 11
(Mixture) (Purification Process)
N (A) TBITTH M3 NEtHS ) 92 aHes
Question: (B) E = ??I'ﬁqq leé'i & (H) 'E_{HE’B"'
(C) Ut »i3 niatds () aFEs
D) 3UESE »E ASH SBIes (IV) fgrcsiaTs
Jot o3 feamut o Adt €39 52
A: (A) - (IV), (B) - (1), (C) - (@), (D) -
B: (A) - (), (B) - (1), (©) - (IV), (D) -
C: (A) - (), (B) - (IV), (©) - (1), (D) -
D: (A) - (), (B) - (IV), (C) - (@), (D) - (II
Topic: Chemistry-Section A
Item No: 80
Question | 1904go
_?;pees:tion MCQ
Question: Fe3t uarzva wifes Uefimm Sarrsiaeis ue 9 ez 3 ugris &% Jar © wiesy féer
| foBfafer g gzer I ¢
A: [Fe(H,O).], [Fe(CN),]
B: Fe,[Fe(CN),],
C: Fe,[Fe(OH), (CN),],
D: Fe,[Fe(CN),],
Topic: Chemistry-Section B
Item No: 81
Question 100481

ID:




Question

Numeric Answer

Type:
_ 100 ml, 0.1 M H,SO, 3 50 mL, 0.1 MNaOH &% fHe8s 3 yus us fee H,50, & HuasT
Question: z g
X10"NT : (839 538 yda nia 3a fod)
Topic: Chemistry-Section B
Iltem No: 82
Question
D: 100482
Question .
Type: Numeric Answer
25°C 3UHs w3 €9 Tgmf 99 bar BT ¥ erzfeq g & &UiEss 9 2 T 3t b & HH'
Question: I U. (837 338 yIs »id 37 o)
(fg3r : R=8.314 JK " 1mol 1)
Topic: Chemistry-Section B
Iltem No: 83
Question
D: 100483
Question .
Type: Numeric Answer
fea dm (niedt 39=280 g mol~!) § =T O, 9 mwfen Afer U féa &t Hieg f<e fare
Questi nfEss fAEg T 37 3uHs 298.0 K 3 20 & 298.45 KT A/eT J | H o@dtHted € 3 AHJET
uestion: e =g P :
25 kK1 3= nZ 3m & niesgsdt 7sE ©f 9 k] mol ~1 3F IH I\ ASTEnT AT T
(833 538 yga nia 34 fai)
Topic: Chemistry-Section B
Iltem No: 84
Question
ID: 100484
_I(?ues.tion Numeric Answer
ype:
SA A 2t forfgs H39m § 100 rH et 9 25°C 3 ws I fEa osar wiss g dizrAle I | wer
Question: | TTHY TEW HU UET &8 Ue & wiT 9fg AT I | 7 HU UET € A g 23.76 mmHg 39 | 3
wfesz A for=st vt & um feg uret aret I (839 338 U9 via 37 )
Topic: Chemistry-Section B

Item No:

85




Question

D 100485

Question .

Type: Numeric Answer
[A] — [B]
nifssaHar QA

Question: | 71 Gfera [B] & et &9 9 saA@er 9 | w3 70 fifet sme [A] &t Awsst Ag & AweEst gy &
RwEst 3 nitt 9fg @t 9 | 3t yStfafanr o fagg wigxx 106513 | x T H®
J1 (837 338 y3s vix 31 &)

Topic: Chemistry-Section B

Iltem No: 86

Question | 100486

Que§tion Numeric Answer

Type:

Question: Jot o3 5 gorele, AElsaEle, QUTTIE, ABHES, JHTTEIE, dBHEE, HSaEle, HAlbeTEe,

| AoeaEte, fedeete, aor8eele | Mfegs € §m ot st <t farsd T5 |

Topic: Chemistry-Section B

Iltem No: 87

Question | 100487

Question .

Type: Numeric Answer

Question: | T ° fon R9 et uaHerde w3 Tetans uniarers yStiafor iR yus §un & niariass
VISHET J |

Topic: Chemistry-Section B

Item No: 88

Question ID: 100488

Question Type: | Numeric Answer

Jot fe3 nigntt 7 nrfest fS8° fagntt € AggsT a9 ANSST T ¢

Question:
NO; , H,0,, BF,, PCL, XeF,, SF,, XeO5;, PH , SO, [Al(OH),]~
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100489




Question

Numeric Answer

Type:
ovest 2f¥ar JeAe &9 Hoe IHuSan ©f fRge fRfus dgdt RS BM J|
uestion: b
(833 338 yas »id 34 faH)
Topic: Chemistry-Section B
Item No: 90
QLfestion 100490
ID:
1Q_ue§tion Numeric Answer
ype:
Question: @ @

(92%)
@uaaguéﬂ'i%d%wﬁg 5 2EEs & Tans Mestoets feg sefent Afer 9 faret deres 92% T |
X102 qrH SenonBStaEs ©f WS g&et J|

(833 538 yg& nfa 34 fad)




